
Time: 30 Minutes Paper Math 7 (T-6) Total Marks: 25

2nd Month, 2nd Week, 6th  Day Revision test (2nd week)

Q.No.1. Choose the correct option. (1 × 13 = 13) 

i) What is the additive inverse of  ? 

(a) (b) (c) 0 (d) 1

ii) According to the commutative property of rational numbers w.r.t

multiplication.
            

(a) (b) (c) (d)

iii) By rounding 3890 upto 3 singnifacant figures we get:

 3 3890

(a) 3900 (b) 4000 (c) 3880 (d) 3890

iv) Solution of 8  9 -[32–{24(8-4-2)}] is:  8  9 -[32–{24(8-4- 2)}]

(a) 44 (b) 46 (c) 48 (d) 50
v) According to the associative property of rational numbers w.r.t addition is:



(a) (b) (c) (d)

vi) What is the additive inverse of ? 

(a) (b) (c) (d)

vii)Which property of rational number is used in the following?



(a) Commutative property w.r.t multiplication. 
(b) Associative property w.r.t addition. 

(c) Associative property w.r.t multiplication. 
(d) Commutative property w.r.t addition. 
viii) Rounding 24.3528 upto 3 decimal place, we get:

 3 24.3528

(a) 24.352 (b) 24.353 (c) 24.35 (d) 24.36

ix) Braces are also known as:  


(a) Round brackets  (b) Curved brackets 
(c) Square brackets  (d) Curly brackets 

x) Commutative property does not hold for in ___ nature.  __ 
(a) Addition  (b) Subtraction  (c) Division  (d) both b and C

xi) Number of significant figures in 0.0005204 are.  0.0005204 

(a) 8 (b) 7 (c) 3 (d) 4

xii)  Solution of 70 + [10 + 20 - 2{8 -2 + 3}}  70 + [10 + 20 - 2{8-2+3}}

(a) 82 (b) 84 (c) 86 (d) 90

xiii) By rounding 0.0467453 upto 3-decimal place we get:

 3 0.0467453

(a) 0.0467 (b) 0.0468 (c) 0.047 (d) 0.046

Q.No.2. Solve the following. (4 x 2 = 8) 

(i) Zara bought  litres cooking oil. She used litres oil for cooking.

How much oil was left with her?

  

(ii) Verify the associative properties. 

(iii)Round of the following to the given dgree of accuracy.


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(a) 25980 (3 significant Figures)

(b) 790253 (2 significant Figures)

(iv)Find the additive inverse of  and .

 
Q.No.3. Solve: (1 x 4 = 4) 
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